fr $em £ H B4 (272)
== =Rt M=
1.27 1.83 5.5 1.63 2.81
X 2.63 X 8.09 X 852 4,95 X 3.99
5,55 1.36 7.67 3.03 4.33
X 7.7 X 5.66 X 6.57 6.85 X 7.13
1.31 3.61 5.55 1.04 4,79
X 4.77 X 2.12 X 3.01 3.78 X 7.64
2.85 2.47 7.17 2.62 7.11
X 4.65 X 6.67 X 7.41 5.06 X 6.74
3.08 3.99 4.54 1.91 9.91
X 8.7 X 7.64 X 5.95 5.25 X 7.65
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fr $em £ wnE B4 (2%2)
O| & =R} =
1.27 1.83 5.5 1.63 2.81
X 2.63 X 8.09 X 852 X 4.95 X 3.99
3.3401 14.8047 46.86 8.0685 11.2119
555 1.36 7.67 3.03 4.33
X 7.7 X 5.66 X 6.57 X 6.85 X 7.13
42.735 7.6976 50.3919 20.7555 30.8729
1.31 3.61 5.55 1.04 4.79
X 477 X 2.12 X 3.01 X 3.78 X 7.64
6.2487 7.6532 16.7055 3.9312 36.5956
2.85 2.47 717 2.62 7.11
X 4.65 X 6.67 X 7.41 X 5.06 X 6.74
13.2525 16.4749 53.1297 13.2572 47.9214
3.08 3.99 4.54 1.91 9.91
X 8.7 X 7.64 X 5.95 X 5.25 X 7.65
26.796 30.4836 27.013 10.0275 75.8115
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